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Multiply by powers of ten (missing number)

Name:

5.02 x = 5020
9.301 x = 9301
6.818 = 681.8
4.412 x = 4412
2.848 x = 2848
4.229 x =4229
3.164 x = 3164
5.988 x =598.8
10.918 x =109.18
3.523 x = 3523

9.094 x

Date:

=90.94

1.302 x

= 1302

2.676 x

=26.76

6.986 x

= 698.6

4.59 x

3.681 x

= 4590

= 368.1

2.028 x

=20.28

8.665 x

= 86.65

4.612 x

=4612

3.011 x

=30.11
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Name: Date: Score:
5.02 x 1000 = 5020 9.094 x 10 = 90.94
9.301 x 1000 = 9301 1.302 x 1000 = 1302
6.818 x 100 = 681.8 2.676 x 10 = 26.76
4.412 x 1000 = 4412 6.986 x 100 = 698.6
2.848 x 10 = 28.48 4.59 x 1000 = 4590
4.229 x 100 = 422.9 3.681 x 100 = 368.1
3.164 x 1000 = 3164 2.028 x 10 = 20.28
5.988 x 100 = 598.8 8.665 x 10 = 86.65
10.918 x 10 = 109.18 4.612 x 1000 = 4612
3.523 x 1000 = 3523 3.011 x 10 = 30.11
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